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Case l

Second Channel Interference

Antenna

Mixer

——» 500 kHz

2500 kHz 2000 kHz

1500 |kHz

When two signals are mixed together there are two
resultant frequencies;

The difference between the two

The sum of the two

Local
Osc.

In the above example, (case 1) the receiver is trying
to amplify a signal of 1000 kHz. When mixed with
the local osc frequency, the two resultant
frequencies are 500 and 2500 kHz. (500 kHz, the

difference freq. is selected).

If there is a strong local signal at 2000 kHz (case 2),
we again get two resultant frequencies (500 and
3500 kHz). Again, the difference frequency of 500
kHz is selected. As the IF frequency is the same,
this will interfere with the desired 1000 kHz signal.

THIS IS SECOND CHANNEL INTERFERENCE!

Case 2

Mixer

——» 500 kHz

3500 kHz

1500 |kHz

Local
Osc.
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